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1. Consider three charges located at the corner of a triangle as shown in the figure, where q1 =q3 =5 uC, q2
=-2 pC, and a = 10 cm. Find the resultant force on 2.
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2. A proton enters a region of uniform electric field as in the figure with vo = 3 x 10'm/s and E = 200 N/C.
The width of the plate is L = 0.1 m.

(a) Find the acceleration of the proton while in the
electric field . - — - .
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(b) Find the vertical deflection y of the proton as it leaves the plates from the other side.
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and gy = -3¢ are located on the x-v plane as shown in the
(

oca
$q:. gz and qa.

1. Four charges q;= 3¢, qo = - Ze. g3 = e,
1 e - due to char

figure. Find the electric force on charg
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2. A proton is moving with a velocity of 2.3 x 107 ms in o direction opposite W a1

The proton stops momentarily aiter moving a disu
(2) Find the deceleration or the proton.
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(by Find the magnitude of the elecuric field.
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1. A charged plastic ball of mass 1 g is suspended on a light string in the presence of a uniform electric field
given by E =3 x 10 i N/C. The ball is in equilibrium when 0 = 40°. Find;

(a) the charge on the ball.

(b) the tension in the string.
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2. A charge Q1 = 10 pC is located at the origin. A charge Q2 = -5 uC is located at x = 5 cm. Where should a
charge Q3 be located on the x-axis so that the net electric force on it is zero?
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